—RAEX [N - Pi#k#R] No.1
1 RO FRREME RS,

(1) —0.89z — 0.6 = —0.56x + 1.38

.

(2) —0.422+0.9=—0.072+0.9

pia

(3) —0.38z — 0.1 = —0.78z — 0.5

(4) —0.73z — 0.1 = —0.86x + 0.81

%

(5) —0.36z — 0.5 = —0.192 — 2.03

(6)

(7)

(8)

9)

(10)

—0.27z — 0.8 = =0.57z + 0.7

.

—0.44z — 0.3 = —0.392 + 0.1

.

—0.66z — 0.3 = —0.16z — 0.3

i

—0.42 + 0.8 = —0.02z — 2.24

%

—0.192 — 0.3 = —0.75z — 1.98

%




—RAEX [N - BikiR] No.2
1 RO FRREME RS,

(1) —0.322 — 0.4 = —0.84x + 1.68

.

(2) —0.252+0.5=—-045z+ 1.1

pia

(3) —0.19z — 0.3 = —0.75z — 1.98

(4) —0.792 + 0.4 = —0.7x + 1.03

%

(5) —0.73z + 0.6 = —0.1x — 1.29

(6)

(7)

(8)

9)

(10)

—0.53z 4+ 0.3 = —-0.83z + 1.5

.

—0.64z —0.5=—-09z - 1.8

/S

—0.01z — 0.1 = —0.58z — 1.81

i

—0.46z + 0.3 = —0.142 + 1.26

%

—0.142z — 0.2 = —0.79z — 2.15

%




—RAEX [N - Pi#k#R] No.3
1 RO FRREME RS,

(1) —0.63z + 0.1 = —0.55x + 0.02

.

(2) —0.12¢ — 0.8 = —0.67x — 3.55

s

(3) —0.09z + 0.9 = —0.54x + 2.25

(4) —0.23z — 0.6 = —0.56z — 0.6

%

(5) —0.17z + 0.1 = —0.14x + 0.16

(6)

(7)

(8)

9)

(10)

—0.282 — 0.2 = —0.09z + 1.13

.

—0.77r + 0.8 = —0.84z + 1.43

2

—0.52z — 0.3 = —-0.722 + 0.1

i

—0.74z + 0.4 = —0.76z + 0.32

%

—0.182 4+ 0.7 = —0.25z + 0.7

%




—RAEX [N - BikiR] No.4
1 RO FRREME RS,

(1) —0.34z+0.8 = —0.44z + 1.2

.

(2) —0.242+0.4=—-0.59z+ 1.1

pia

(3) —0.17z + 0.6 = —0.02z + 0.3

(4) —0.76x — 0.4 = —0.48x + 1.84

%

(5) —0.17z — 0.2 = —0.28z — 0.09

(6)

(7)

(8)

9)

(10)

—0.4z + 0.8 = —-0.02z — 2.24

.

—0.23z — 0.6 = —0.56z — 0.6

/S

—0.26z — 0.5 = —0.36z — 1.4

i

—0.46z — 0.3 = —0.87z — 3.58

s

—0.68z + 0.3 = —0.28z — 0.5

%




—RAEX [N - $ikiR] No.5
1 RO FRREME RS,

(1) —0.67z+ 0.6 = —0.52z + 0.6

.

(2) —0.92 +0.2 = —0.01z — 2.47

pia

(3) —0.33z —0.2=—-0.092 — 1.4

(4) —0.282 — 0.2 = —0.09x + 1.13

%

(5) —0.29z — 0.8 = —0.46x — 1.65

(6)

(7)

(8)

9)

(10)

—0.192 — 0.3 = —0.75z — 1.98

.

—0.892 4+ 0.6 = —0.3x +4.73

/S

—0.66z — 0.8 = —0.27z + 0.76

i

—0.422 + 0.9 = —0.07z + 0.9

%

—0.482 — 0.8 = —0.75z + 0.01

%




